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 1. Answer any five of the following: 1×5=5 

  öë ö†þyöìly þ›„y‹þ!Øþ ²ÌöìÙÀîû ’þz_îû ˜yG / 

   (a) What is Grignard reagent? 

    @ýÌ#ˆly’Åþ !î†þyîû†þ †þ#Ú

   (b) State 1st law of thermodynamics. 

    •þyþ›ˆ!•þ !îKþyöìlîû ²Ìíô ¤)e!Øþ !îî,•þ †þöìîûyÐ

   (c) What do you mean by closed system and isolated system? 

    îm* Œclosed Š G !î!FSé§¬ Œisolated Š !¤öìÞØþô î¡öì•þ †þ# öîyöìVþyÚ

   (d) Write the structure of the product formed in the following reaction? 

    !löìÁ¿y_« !î!e«ëûyëû !î!e«ëûy?y•þ þ›˜yíÅ!Øþîû ˆ‘þl ö¡öì‡y /

   (e) What is the relation between ܭ௉ and ܭ௑? 

‚௉ ~îܭ     ௑ܭ éŸé~îû ôöì™Ä ¤Á›†Åþ †þ#Ú

   (f) What are the units of specific conductance and equivalent conductance? 

    xyöìþ›!Çþ†þ þ›!îûîy!¥•þy G •%þ¡ÄyBþ þ›!îûîy!¥•þyîû ~†þ†þ †þ# †þ#Ú

   (g) Convert C଺H଺ to C଺HହCHሺCHଷሻଶ. 

    îû*þ›yhsýîû †þöìîûy C଺H଺ öíöì†þ C଺HହCHሺCHଷሻଶÐ
   (h) Give example of an alcohol which gives iodoform test. 

    ~†þ!Øþ xÄy¡öì†þy¥öì¡îû ’þz˜y¥îû” ˜yG ëy xyöìëûyöì’þyæþôÅ !î!e«ëûyëû ¤y’þüy ö˜ëûÐ
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 2. Answer any two of the following: 5×2=10 

  öë ö†þyöìly þ˜%!Øþ ²ÌöìÙÀîû ’þz_îû ˜yG / 

   (a)  (i) Write the two statements of 2nd law of thermodynamics. Explain why they are same in 

physical significance. 

      •þyþ›ˆ!•þ!îKþyöìlîû !m•þ#ëû ¤)e!Øþ ˜%!Øþ !èþ§¬ îû*öìþ› !îî,•þ †þöìîûyÐ •þyêþ›öìëÅîû !˜†þ öíöì†þ •þyîûy ö†þl x!èþ§¬ •þy
îÄy‡Äy †þöìîûyÐ

    (ii) What do you mean by equivalent conductance? 3+2=5 

      •%þ¡ÄyBþ þ›!îûîy!¥•þy î¡öì•þ †þ# öîyöìVþyÚ

   (b)  (i) Give an example of spontaneous process. How it is related to Gibbs free energy at 

constant temperature and pressure. 

      ßº•þ/ß³)þ•Åþ ²Ì!e«ëûyîû ~†þ!Øþ ’þz˜y¥îû” ˜yGÐ †þ#èþyöìî !l!˜ÅÜT •þyþ›ôyey G ‹þyöìþ› ~!Øþ !ˆîöì¤îû ô%_«éŸé¢!_«îû ¤öìD
¤Á›!†Åþ•þÚ

    (ii) Show that for an ideal gas ܥ௉ − ௏ܥ = ܴ. 2+3=5 

      ²Ìôy” †þöìîûy öë– xy˜¢Å ˆÄyöì¤îû öÇþöìe ௉ܥ − ௏ܥ = ܴ Ð

   (c) Convert: 5 

    îû*þ›yhsýîû †þöìîûy /

     

(i)  

(ii) 

OH OH

BrBr

Br  

(iii) 
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(iv) 

 

(v) CH3 C C

CH3

OH

CH3

OH

CH3 CH3 C C

CH3

CH3 O

CH3

 

 

   (d) Write short notes on any two from the following: 2½×2=5 

    !lÁ¬!¡!‡•þ öë ö†þyöìly ˜%!Øþ ¤Á›öì†Åþ Øþ#†þy ö¡öì‡y /

     (i) Fehling’s solution  

     öæþ!¡‚ oî” 

     (ii) Cannizzaro reaction 

      †þy!§¬?yöìîûy !î!e«ëûy 

     (iii) Wittig reaction 

      !æþ!Øþˆ !î!e«ëûy 

     (iv) Aldol condensation reaction 

      xÄy¡’þ¡ †þlöì’þlöì¤¢l !î!e«ëûy

 3. Answer any one of the following: 10×1=10 

  öë ö†þyöìly þ~†þ!Øþ ²ÌöìÙÀîû ’þz_îû ˜yG / 

   (a)  (i) State Le Chatelier’s principle. 

      ¡yéŸé¢yöìØþ¡#ëûyöìîûîû l#!•þ!Øþ !îî,•þ †þöìîûyÐ

    (ii) Discuss the effect of temperature, pressure and concentration on the following 

equilibrium.  

       2NHଷ ⇌ Nଶ + 3Hଶ, ∆ܪ = 11 Kcal/mol 

      !löìÁ¬y_« ¤yöìôÄ •þyþ›ôyey– ‹þyþ› G ‰löìcîû ²Ìèþyî †þ#îû*þ› ¥öìî îÄy‡Äy †þöìîûyÐ2NHଷ ⇌ Nଶ + 3Hଶ , ܪ∆ = 11 Kcal/mol

    (iii) Draw the Carnot cycle in P-V diagram and label clearly all the steps involved.  

       1+(2+2+2)+(1+2)=10  

      P-V ö¡‡!‹þöìe †þyöìlÅy‹e«!Øþ xBþl †þöìîûy ~î‚ ö¡‡!‹þöìe ²Ì!•þ!Øþ ™yþ›öì†þ ¤!‘þ†þèþyöìî !‹þ!¥«•þ †þöìîûyÐ
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   (b)  (i) How do you distinguish between a primary alcohol and a secondary alcohol. 

      ²Ìy¥zôyîû# ~î‚ ö¤öì†þuþyîû# xÄy¡öì†þy¥¡öì†þ †þ#èþyöìî þ›yíÅ†þÄ †þîûöìîÚ

    (ii) Write short note on Williamson’s synthesis of ether. 

      ¤‚!Çþ® Øþ#†þy ö¡öì‡y / ’þz¥z!¡ëûyô¤äl ¥zíyîû ¤‚öìÙÕ£ìl

    (iii) What happens when an ether is heated with HI under cold condition. 

      ¢#•þ¡ •þyþ›ôyeyëû ¥zíyöìîûîû ¤!¥•þ HIéŸé~îû !î!e«ëûyëû †þ# ¥ëûÚ

    (iv) What is Rosenmund’s reduction? 

      öîûyöì?lô%uþ !î?yîûl †þ#Ú

    (v) How can you prepare phenol from benzene? 2+2+2+2+2=10 

      †þ#èþyöìî öî!Ol öíöì†þ öæþl¡ ÷•þîû# †þîûöìîÚ

________ 


